Math 54-1 Your name: sz'
Quiz 7, July 20, 2010 &

Please write your name on each sheet. Show your work clearly and in
order, including intermediate steps in the solutions and the final answer.

1. (5 pt) Assume that A is a 6 x 8 matrix with dim Nul A = 2. Find the rank
of A. Are the rows of A linearly independent?

Do Dok Theorew, romk A= - lw Nl A= 6

Tl vourk AT~ rouk ’A‘ 6 x5,




2. (5 pt) Find the matrix of the transformation T : P, — P, given by the
formula (T(f))(t) = f(¢t — 1) in the basis {1,%,#2} of P, (and itself). Is
the transformation T' 1-to-1? Is it onto?

Bonus (no points): is T invertible? If so, find the inverse transformation.
We box  T(1)-1 - [TWl* [;‘33
T =41 Z[T(Jc)]@: 3 ] |
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